58 7] AL B IR I

Compact & Powerful Planetary Gearbox

- —EXEPE : 6-14 - 1 Stage-Minimal backlash: 6-14 arc-min
- VL - 3-100 - Ratio: 3-100
- —ER B IRFREIE 96% - 1 Stage-High efficiency: 96%

23



MF070S

MF070S
MF090S
MF120S
MF150S
MF180S

24

- L1 - 10 - Motor

Ex#®

Stage
L1: (Ratio 3-10) FEEMRRER ~ BUSR
L2: (Ratio 9-100) Motor Brand & Model

L3: (Ratio 27-1000)

HRLE

Ratio
E2RBE RS 26 B © BURLLAANE -
Please refer to page 26 " Ratio Composition Table




RFEmN : EERMOMNE
Rareh@ ) : FATHREOH N E
AR AN 2R B8 7 70 SRk R M 9 L 7 i B 2R R e T R Y BB BEARL R
EREIR - R CRANSRE -

EHMBREE - RAFNERDEEEE - s

Axil Load ¢

* Permitted Radial Load :The force exerts perpendicular to output shaft
* Permitted Axil Load :The force exerts parallel to output shaft

The radial & axial loads are related to the speed and application point on output shaft.

The radial & axial loads are decreased when the output shaft runs faster.

The radial & axial loads are decreased when the application points away from root segment of shaft.

Kopa
Radial

R

ESE=VEiE
Radial Load Chart (MF-S)
12000
10000
: \
—
O 4=
H & @ 35000
h 30
B < ©
B T 5 6000 -\ — MFO70S
Qs
B3 \\ — MF090S
[ £ 0 4000 MF0120S
. \
noE2 \ — MF01508
N) o @ = MF0180S
N) ‘é 2000
o \
0 : : : :
0 500 1000 1500 2000 2500
B H R (rpm)
Output Speed (rpm)
BEREEE
- Load Factor Chart (MF-S)
1.6
14 R
S
G 12 4
g <
i‘z o] 1.0 A
3
®a \ — MFO70S
ﬁ P 0.8 A
5 —— MF090S
= 06 | MF0120S
o
o, —— MF0150S
o — MF01805S
0.2
—
0.0 : : : ‘ ‘
0 50 100 150 200 250 300

FE R EL K DB AR FLAIZE &R (mm)

Position X (mm)

25



26

BER
Motor Output
Power
400W
500W
750W
TKW
1.5KW
2.0KW

3.5KW

5.0KW

7.0KW

s

EEERISE
Model
MFO70S
MF090S
MF090S
MF120S
MF090S
MF120S
MF120S
MF150S
MF120S
MF150S
MF150S
MF180S
MF150S
MF180S
MF150S
MF180S
MF180S

=
)

MF-SR5IRE#E A2 ERIK B AREEHE HIIREE)

MF-S Series Selection Reference (Based on The Motor Output Torque)

174 1/5 17
e o o
e o o
e o o
e o o
e o o
e o o
e o o
e o o
e o o
e o o
e o o

e o
e o o

o o
e o o

o o

e O

Lt

Ratio

1/9 110 1/12 115 1/16 1/20 1/21 1/25 1/28

1. ATUR S Z 8 I R EBZIEE ' @' it R AL SR
- BERRBENEMEBRRZEE  BABRARK—URERE .
3. ERRIM LB MEFTERAAXBLREM.

Note *

1/30

1. By the motor output power, select the suitable gearbox models with ' @ ' mark in above table.
2. When applied to a bigger torque or torsional rigidity mechanism, we suggest using a larger size gearbox.
3. Please contact us at vgm@vgmgear.com for ratios not being listed in above table.

RGBSR

Model

MFO70S

MF090S

MF120S

MF150S

MF180S

—ExaCLEE

Stage (L1)

314:5:7

3:4:5°7

3:415:7

3:4:5:7:10

3:4:5:7110

MF-S 71| EL 88 E

MF-S Series Ratio Composition Table
TR B E R R AR EY

Ratio Table of each Stage

ZEACEEE
Stage (L2)

Q2122189 1892 209 21 7 25 °
2835749

9+12°15-16>20° 21 25"
28 » 35 49

9oi2° 10 162 209 2 v 25 °
28 » 35 49

9+12>15°16>20> 21> 25>
2830357404950 70

Q212921892200 21 » 29 9 28 °
30>35>40-49° 5070 100

1/35 1/40 1/49 1/50 1/70 [1/100

[
[ [}
[
([ )
e o o o o
e o o [}
e O ()
e o o o o
e O [ J
[
=ZERCLEE
Stage (L3)

273645 48 60
7580100

273645 48 60
7580100

2736454860
7580100

273645 48 60"
758090 100

273645 48 > 60 °
7580 90



EEEER
MOMENT OF INERTIA TABLE

MF-s R5IEE)EE xR
& MFO70S  MF090S ~ MF120S  MF150S  MF180S
4 0.09 0.94 1.99 8.89 21.51
6 JE— J— J— J— J—
L1
8 J— JE— J— J— J—
10 — — — 8.38 20.15
20 0.08 0.89 1.87 8.51 20.5
EEpEER
k 2
gxem | 30 - — — 851 205
| 40 - — — 83T 2013
L2
50 — — — 8.37 20.13
o0 == — 837 2013
90 — — — — —

MF-S Series Reducer Moment of Inertia Table

Stage Ratio MFO70S MFO090S MF120S MF150S MF180S

o
o
o
o
o
()
~
—_
[{e)
©
oo
(o]
o

21.51

N
[¢]
|
|
|
|
|

10 — — — 8.38 20.15
o 20 0.08 0.89 1.87 8.51 20.5
ot ~ 25 008 08 187 851 205
kgxcm2
| 30 | - - — 851 205
40 — — — 8.37 20.13

,_
N
(&)
o
|
|
|
1

37 20.13

~

o
|
|
|

8.37 20.13

©

o
|
|
|
|
|

27



MF-S 5 TE
Technical Specifications

Spej’?ﬁtion fﬂ% Sﬁifi ;fi MFO70S = MF090S = MF120S = MF150S = MF180S
3 25 80 190 450 1050
4 34 90 230 520 19120
L1 5 30 86 220 500 1100
7 25 82 200 480 1080
10 — — — 450 1 050
9 25 80 200 480 1080
15 25 80 200 480 1080
20 34 90 230 520 19120
25 30 86 220 500 1100
A - jﬁj = = - iﬁg 1 : 123
Nm 49 25 80 200 480 1080
Normal Output Torque
70 — — — 450 1080
100 — — — — 1050
27 34 90 230 520 1120
36 25 80 200 480 1080
45 25 80 200 480 1 080
L3 48 25 80 200 480 1080
60 25 80 200 480 1 080
75 25 80 200 480 1080
80 34 90 230 520 1120
100 34 90 230 500 —
ZYEHE Emergency Stop Torque Nm L1-L2°L3 3~100 25{§§EE§$]H:}?H§E
2.5 Times of Nominal Output.
REMAMR rpm L1:L2°L3  3~100 3000 3000 2> 000 2> 000 2 000
Normal Input Speed
RAWARE rpom L1-°L2'L3  3-100 4> 500 4 > 500 3 000 3:000 3’000
Max. Input Speed
IBAADE S oo Backlach sremin L1 3-10 <10~15 <10~15 <10~15 <8~12 <6~10
L2 9-100 <13-18 <13-18 <13~18 <10~14 <10~14
HREERIME Torsional Rigidity Nm/arcmin L1 °L2:L3  3-100 4 13 35 64 135
BEHEEA [Fu] Max. Radial Load N L1-L2°L3  3-100 12790 1920 3770 6290 9910
BEFEHE A |F,| Max. Axial Load N L1-L2°L3  3-100 930 1+010 2°075  3:210 5800
FIFERER  Average Life Time hr L1:L2°L3  3~100 20 ° 000
e L1 3~10 > 96%
EREEHE % L2 9-100 > 93%
Efficiency of Full Load L3 27-100 > 90%
L1 3~10 1.5 3.3 6.0 15.2 37.0
FE Net Weight kg L2 9~100 1.9 4.2 7.2 16.2 46.4
L3 27-100 2.2 6.8 8.2 18.5
{FFBE Operating Temp C L1:L2°L3 3~100 -10C ~ +90°C
A N:ENE N (=3
R Labrication L1-L2- 13 e Lithium Cc,fpixﬁﬁé%ﬂrﬁ/eﬂal_ubrication
Z8E7M Mounting Position L1>L2°L3 3~100 1£%ﬁrﬁ"
All Directions
IEE  Running Noise dBA L1+L2°L3  3-100 <70 <70 <70 <74 <74

1. DB BOBRS (CRIEELL BRI - TR AEARELSESLLBUREATAIS < Bk,

2BERLE © i = MAER/E LR

3. BIME © RIE2%EER HHRE MRS EUR.

4. BREAALEAREMAA © BARBDEPOCE  BHRMEFHE50% - HH100rpm » G TG BIR.

5 EHEREN<60%IRT T + FHRMFMINIIREERE  AFEHZ60% EFHEHINNT  FHERSHAREREZESENS0%UT.
6. IRE(E  BEMAR > ZHES  BMEWMAEE - (TSR

1.Above relative specifications of each model most are measured on 5 : 1 gear ratio

2.Rations : | = Nin / Nout

3.Backlash : Measured on 2% of nominal output torque

4 Max. Radial and Axial Load : Applied to the output shaft center, and 50% of duty time and at 100 rpm
5.Duty Cycle < 60%, Average Lifetime = List Value; Duty Cycle = 60%, Average Lifetime < 50% List value
6.Noise Level : Numeric measured on idle running in 1m distance, and at nominal input speed



oLl

c9

L2 L8

c8

C10

450

r—-l—-
D
Joca

C

R~1Size
D1
D2
D3
D4
D5
D6
D7
L1
L2
L3
L4
L5
L6
—E% (stage 1)
L8  ZE¥ (stage 2)
=E% (stage 3)
L9
L10
L11
C1
C2
C3
C4
C5
C6
Cc7
Cc8
—E% (stage 1)
C9 E% (stage 2)
=E% (stage 3)
C10
Ci
B1
H1

* ¥ :C1-C6 BIZERR

MFO070S
75
5.5
14
60
15
M5 X 0.8P
90
70
325
3
1
20
2
496
72
93.8
3
14
10
70
M5 X 0.8P(MAX)
6.35~14
32.5
50
4
70
475
1296
152
173.8
12
90
5
16

Li1

c4

MF090S
105
6.8
18
80
20
M6 X 1P
120
92
45
3
1
25
5
56
84
112
4
18
12
100
M6 X 1P(MAX)
14~19
421
80
5
92
471
148.1
176.1
2041
12.5
120
6
20.5

MF120S
130
8.7
24
110
&g
M8 X 1.25P
150
115
56
3.5
1
40
5
62.1
90.1
118.1
4
20
13.6
100
M8 X 1.25P(MAX)
16~24
47.4
80
)
115
52
170.1
198.1
226.1
14.5
150
8
27

acz

MF 1508
165
10.5

38(40)
130
40

M12X1.75P
190
142
788
4.5
3
45
3

103.1
138.6
174
8
32
18.4
165
M10 X 1.5P(MAX)
22~42
69.5
130
15
142
86.9
265.5
300.5
336.4
27
190
10(12)
41

(BEMTZ * mm)
(Unit : mm)
MF180S

215

13

50

160

60

M12X1.75P

240
182

95

10

2

70

6

127
209

291

10

34

26

200

M12 X 1.75P(MAX)

35~42
82.5
114.3

11

182
110
332
414
496

30

240

14
53.5

AR > BATIRERZERRRST - RIMKEECHEE Mo o 0B H R BISIARRIRaA R I RIS -

* Note : C1-C6 are metric standard specific dimensions of motor. Please contact us at vgm@vgmgear.com for other specification or customize

product.

29



VIGOR GEAR MACHINERY CO, Ltd

BETERHERAT

24872 Frdvh A [ AR B B — B 185 12572557

Address: No.25, Alley. 12, Lane. 1, Sec. 1, Zhongxing Rd., Wugu
Dist., New Taipei City 24872, Taiwan (R.O.C.)

TEL: +886-2-8982-0709

FAX: +886-2- 8988-2565

Email: vgem@vgmgear.com

Website: http//: www.vgmgear.com/

FT7hR 2018588
Version 7 AUG. 2018




